Probabilita e Statistica - 10 luglio 2018

c1| 2 C3 C4 C6 c7 C8
F1 | } | 55/153 | 175 curo | 0.80085 | 2/3, 3/2 | (2.2488;3.9112) | 525
F2 | 2 | 28/153 | 70 euro | 032332 | 1/2,2 | (4.2726;6.0873) | 22
F3 | 1 | 13/35 | 500 euro | 0.98168 | 1/2,2 | (1.8859;4.2741) | =5
F4 | 20 | 6/35 | 180 euro | 0.95957 | 3/4,4/3 | (4.0603;6.2997) | 5"
C5

F1 | X=0] X=1
Y=5 | 1/4 | 1/12
Y=10 | 1/3 1/3

F2 (X =-1] X=1
Y=2| 1/10 | 2/5
Y=3| 1/5 | 3/10

F3 [X = -—2] X=2
Y=1| 1/12 | 1/12
Y=1| 1/4 | 7/12

F4 | X=0] X=1
Y=3| 1/15 | 2/15
Y=6 | 1/15 | 11/15




